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<7<5D5=<= (>?D545?5=<=), 0.10 
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�5F>4 E?GF=<>>6OE 75>457<G5E><E 

<7<5D5=<= (>?D545?5=<=), 0.10 
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�5F>4 E?GF=<>>6OE 75>457<G5E><E 

<7<5D5=<= (>?D545?5=<=), 0.10 
- 

 

2. «�4475<=O= < ?>475<=O= 747>?D>6>4 446?5=<5< 4> 0,3 ��4 >F F>G>< 
?D<E>54<=5=<O > D4E?D545?<F5?L=><G 747>?D>6>4G 4> >5N5>F4 ?> 44D5EG: 
�<657>D>4E>4O >5?4EFL, 7. �D74<4E, G?. �>64O, 4. 1 � (4541 '��-�)», 
=47=4G5=<5: �4475<=O= < ?>475<=O= 747>?D>6>4 446?5=<5< 4> 0,3 ��4 >F 
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F>G5> 7D4=<F 
X Y 

?>7D5L=>EFL ?>?>65=<O 
E4D4>F5D=>= F>G>< (�t), < 

F>G>< 

1 2 3 4 5 

1 429160.70 2206304.57 
�5F>4 E?GF=<>>6OE 75>457<G5E><E 

<7<5D5=<= (>?D545?5=<=), 0.10 
- 

2 429160.25 2206306.53 
�5F>4 E?GF=<>>6OE 75>457<G5E><E 

<7<5D5=<= (>?D545?5=<=), 0.10 
- 

3 429191.97 2206319.45 
�5F>4 E?GF=<>>6OE 75>457<G5E><E 

<7<5D5=<= (>?D545?5=<=), 0.10 
- 

4 429200.85 2206333.13 
�5F>4 E?GF=<>>6OE 75>457<G5E><E 

<7<5D5=<= (>?D545?5=<=), 0.10 
- 

5 429202.03 2206335.19 
�5F>4 E?GF=<>>6OE 75>457<G5E><E 

<7<5D5=<= (>?D545?5=<=), 0.10 
- 

6 429198.56 2206337.18 
�5F>4 E?GF=<>>6OE 75>457<G5E><E 

<7<5D5=<= (>?D545?5=<=), 0.10 
- 

7 429197.43 2206335.21 
�5F>4 E?GF=<>>6OE 75>457<G5E><E 

<7<5D5=<= (>?D545?5=<=), 0.10 
- 

8 429189.29 2206322.69 
�5F>4 E?GF=<>>6OE 75>457<G5E><E 

<7<5D5=<= (>?D545?5=<=), 0.10 
- 
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<7<5D5=<= (>?D545?5=<=), 0.10 
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<7<5D5=<= (>?D545?5=<=), 0.10 
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�5F>4 E?GF=<>>6OE 75>457<G5E><E 

<7<5D5=<= (>?D545?5=<=), 0.10 
- 
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2 431405.02 2199269.59 
�5F>4 E?GF=<>>6OE 75>457<G5E><E 

<7<5D5=<= (>?D545?5=<=), 0.10 
- 

3 431408.18 2199267.13 
�5F>4 E?GF=<>>6OE 75>457<G5E><E 

<7<5D5=<= (>?D545?5=<=), 0.10 
- 

4 431418.77 2199280.73 
�5F>4 E?GF=<>>6OE 75>457<G5E><E 

<7<5D5=<= (>?D545?5=<=), 0.10 
- 

1 431415.61 2199283.19 
�5F>4 E?GF=<>>6OE 75>457<G5E><E 

<7<5D5=<= (>?D545?5=<=), 0.10 
- 
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4. «�47>?D>6>4-66>4 > 6<?><G 4><G ?> 44D5EG: �<657>D>4E>4O >5?, 7. 
�D74<4E, <>D. �G5><, G?. �54<F<=E>4O, GG. 32 (�-2-0390�/2022/��/��)», 
=47=4G5=<5: �47>?D>6>4 =<7>>7> 446?5=<O, ?D>FO65==>EFL: 36 <, 44D5E: 
$>EE<=E>4O $545D4F<O, �<657>D>4E>4O >5?, 7. �D74<4E, <>D. �G5><, G?. 
�54<F<=E>4O, GG. 32 (>444EFD>6O= =><5D 52:40:0101020:889) 
 

�5>7=4G5=<5 
E4D4>F5D=OE 
F>G5> 7D4=<F 

�>>D4<=4FO, < 
�5F>4 >?D545?5=<O >>>D4<=4F < 

ED54=OO >644D4F<G5E>4O 
?>7D5L=>EFL ?>?>65=<O 

E4D4>F5D=>= F>G>< (�t), < 

�?<E4=<5 
74>D5??5=<O 

F>G>< X Y 

1 2 3 4 5 

1 428479.82 2204169.40 
�5F>4 E?GF=<>>6OE 75>457<G5E><E 

<7<5D5=<= (>?D545?5=<=), 0.10 
- 

2 428478.53 2204165.61 
�5F>4 E?GF=<>>6OE 75>457<G5E><E 

<7<5D5=<= (>?D545?5=<=), 0.10 
- 

3 428480.99 2204164.78 
�5F>4 E?GF=<>>6OE 75>457<G5E><E 

<7<5D5=<= (>?D545?5=<=), 0.10 
- 

4 428484.97 2204163.13 
�5F>4 E?GF=<>>6OE 75>457<G5E><E 

<7<5D5=<= (>?D545?5=<=), 0.10 
- 

5 428494.44 2204187.83 
�5F>4 E?GF=<>>6OE 75>457<G5E><E 

<7<5D5=<= (>?D545?5=<=), 0.10 
- 

6 428491.35 2204189.30 
�5F>4 E?GF=<>>6OE 75>457<G5E><E 

<7<5D5=<= (>?D545?5=<=), 0.10 
- 

7 428485.61 2204191.41 
�5F>4 E?GF=<>>6OE 75>457<G5E><E 

<7<5D5=<= (>?D545?5=<=), 0.10 
- 

8 428484.23 2204187.65 
�5F>4 E?GF=<>>6OE 75>457<G5E><E 

<7<5D5=<= (>?D545?5=<=), 0.10 
- 

9 428489.36 2204185.77 
�5F>4 E?GF=<>>6OE 75>457<G5E><E 

<7<5D5=<= (>?D545?5=<=), 0.10 
- 

10 428482.71 2204168.39 
�5F>4 E?GF=<>>6OE 75>457<G5E><E 

<7<5D5=<= (>?D545?5=<=), 0.10 
- 

1 428479.82 2204169.40 
�5F>4 E?GF=<>>6OE 75>457<G5E><E 

<7<5D5=<= (>?D545?5=<=), 0.10 
- 

 

5. «�47>?D>6>4-66>4 > 6<?><G 4><G ?> 44D5EG: �<657>D>4E>4O >5?4EFL, 
�D74<4EE><= D4=>=, E. �<D<??>6>4, G?. �4D5G=4O, 4. 31 (�-2-

0629�/2022/��/��)», =47=4G5=<5: �47>?D>6>4 =<7>>7> 446?5=<O, 
?D>FO65==>EFL: 21 <, 44D5E: $>EE<=E>4O $545D4F<O, �<657>D>4E>4O >5?4EFL, 
�D74<4EE><= D4=>=, E. �<D<??>6>4, G?. �4D5G=4O, 4. 31 (>444EFD>6O= =><5D 
52:41:0910002:3306) 

 

�5>7=4G5=<5 
E4D4>F5D=OE 
F>G5> 7D4=<F 

�>>D4<=4FO, < �5F>4 >?D545?5=<O >>>D4<=4F < 
ED54=OO >644D4F<G5E>4O 
?>7D5L=>EFL ?>?>65=<O 

E4D4>F5D=>= F>G>< (�t), < 

�?<E4=<5 
74>D5??5=<O 

F>G>< X Y 

1 2 3 4 5 

1 425661.86 2209062.28 
�5F>4 E?GF=<>>6OE 75>457<G5E><E 

<7<5D5=<= (>?D545?5=<=), 0.10 
- 

2 425661.65 2209066.27 �5F>4 E?GF=<>>6OE 75>457<G5E><E - 
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<7<5D5=<= (>?D545?5=<=), 0.10 

3 425647.10 2209065.47 
�5F>4 E?GF=<>>6OE 75>457<G5E><E 

<7<5D5=<= (>?D545?5=<=), 0.10 
- 

4 425641.89 2209062.72 
�5F>4 E?GF=<>>6OE 75>457<G5E><E 

<7<5D5=<= (>?D545?5=<=), 0.10 
- 

5 425643.76 2209059.18 
�5F>4 E?GF=<>>6OE 75>457<G5E><E 

<7<5D5=<= (>?D545?5=<=), 0.10 
- 

6 425648.20 2209061.53 
�5F>4 E?GF=<>>6OE 75>457<G5E><E 

<7<5D5=<= (>?D545?5=<=), 0.10 
- 

1 425661.86 2209062.28 
�5F>4 E?GF=<>>6OE 75>457<G5E><E 

<7<5D5=<= (>?D545?5=<=), 0.10 
- 

 

6. «�>475<=O=, =4475<=O= 747>?D>6>4 446?5=<5< 4> 0,005 ��4 >F F>G>< 
?D<E>54<=5=<O > D4E?D545?<F5?L=><G 747>?D>6>4G 4> >5N5>F4 ?> 44D5EG: 
�<657>D>4E>4O >5?4EFL, �D74<4EE><= D4=>=, E. '5D=GE4, G?. %>65FE>4O, 4. 5, 
>6. 1 (�-2-2153�/�-�)», =47=4G5=<5: �47>?D>6>4 =<7>>7> 446?5=<O, 
?D>FO65==>EFL: 16 <, 44D5E: $>EE<=E>4O $545D4F<O, �<657>D>4E>4O >5?4EFL, 
�D74<4EE><= D4=>=, E. '5D=GE4, G?. %>65FE>4O, 4. 5, >6. 1 (>444EFD>6O= =><5D 
52:41:0206004:2253) 

 

�5>7=4G5=<5 
E4D4>F5D=OE 
F>G5> 7D4=<F 

�>>D4<=4FO, < �5F>4 >?D545?5=<O >>>D4<=4F < 
ED54=OO >644D4F<G5E>4O 
?>7D5L=>EFL ?>?>65=<O 

E4D4>F5D=>= F>G>< (�t), < 

�?<E4=<5 
74>D5??5=<O 

F>G>< X Y 

1 2 3 4 5 

1 449692.42 2199043.48 
�5F>4 E?GF=<>>6OE 75>457<G5E><E 

<7<5D5=<= (>?D545?5=<=), 0.10 
- 

2 449682.19 2199031.64 
�5F>4 E?GF=<>>6OE 75>457<G5E><E 

<7<5D5=<= (>?D545?5=<=), 0.10 
- 

3 449685.22 2199029.03 
�5F>4 E?GF=<>>6OE 75>457<G5E><E 

<7<5D5=<= (>?D545?5=<=), 0.10 
- 

4 449695.45 2199040.87 
�5F>4 E?GF=<>>6OE 75>457<G5E><E 

<7<5D5=<= (>?D545?5=<=), 0.10 
- 

1 449692.42 2199043.48 
�5F>4 E?GF=<>>6OE 75>457<G5E><E 

<7<5D5=<= (>?D545?5=<=), 0.10 
- 

 

7. «�47>?D>6>4-66>4 > 6<?><G 4><G ?> 44D5EG: �<657>D>4E>4O >5?., 
�D74<4EE><= D-=, E. �>?LL>5 &G<4=>6>, G?. �46>4E>4O, 46?4 4 (�-2-

0317�/2022/��/��)», =47=4G5=<5: �47>?D>6>4 =<7>>7> 446?5=<O, 
?D>FO65==>EFL: 26 <, 44D5E: $>EE<=E>4O $545D4F<O, �<657>D>4E>4O >5?., 
�D74<4EE><= D-=, E. �>?LL>5 &G<4=>6>, G?. �46>4E>4O, 46?4 4 (>444EFD>6O= 
=><5D 52:41:1006003:2864) 
 

�5>7=4G5=<5 
E4D4>F5D=OE 
F>G5> 7D4=<F 

�>>D4<=4FO, < 
�5F>4 >?D545?5=<O >>>D4<=4F < 

ED54=OO >644D4F<G5E>4O 
?>7D5L=>EFL ?>?>65=<O 

E4D4>F5D=>= F>G>< (�t), < 

�?<E4=<5 
74>D5??5=<O 

F>G>< X Y 

1 2 3 4 5 



5 

 

1 426575.88 2183320.39 
�5F>4 E?GF=<>>6OE 75>457<G5E><E 

<7<5D5=<= (>?D545?5=<=), 0.10 
- 

2 426573.05 2183319.47 
�5F>4 E?GF=<>>6OE 75>457<G5E><E 

<7<5D5=<= (>?D545?5=<=), 0.10 
- 

3 426571.83 2183318.87 
�5F>4 E?GF=<>>6OE 75>457<G5E><E 

<7<5D5=<= (>?D545?5=<=), 0.10 
- 

4 426564.31 2183315.74 
�5F>4 E?GF=<>>6OE 75>457<G5E><E 

<7<5D5=<= (>?D545?5=<=), 0.10 
- 

5 426557.19 2183313.11 
�5F>4 E?GF=<>>6OE 75>457<G5E><E 

<7<5D5=<= (>?D545?5=<=), 0.10 
- 

6 426556.96 2183313.96 
�5F>4 E?GF=<>>6OE 75>457<G5E><E 

<7<5D5=<= (>?D545?5=<=), 0.10 
- 

7 426553.91 2183313.21 
�5F>4 E?GF=<>>6OE 75>457<G5E><E 

<7<5D5=<= (>?D545?5=<=), 0.10 
- 

8 426550.98 2183311.90 
�5F>4 E?GF=<>>6OE 75>457<G5E><E 

<7<5D5=<= (>?D545?5=<=), 0.10 
- 

9 426552.61 2183308.25 
�5F>4 E?GF=<>>6OE 75>457<G5E><E 

<7<5D5=<= (>?D545?5=<=), 0.10 
- 

10 426554.17 2183308.95 
�5F>4 E?GF=<>>6OE 75>457<G5E><E 

<7<5D5=<= (>?D545?5=<=), 0.10 
- 

11 426554.47 2183307.85 
�5F>4 E?GF=<>>6OE 75>457<G5E><E 

<7<5D5=<= (>?D545?5=<=), 0.10 
- 

12 426565.77 2183312.02 
�5F>4 E?GF=<>>6OE 75>457<G5E><E 

<7<5D5=<= (>?D545?5=<=), 0.10 
- 

13 426573.49 2183315.23 
�5F>4 E?GF=<>>6OE 75>457<G5E><E 

<7<5D5=<= (>?D545?5=<=), 0.10 
- 

14 426574.55 2183315.75 
�5F>4 E?GF=<>>6OE 75>457<G5E><E 

<7<5D5=<= (>?D545?5=<=), 0.10 
- 

15 426577.12 2183316.59 
�5F>4 E?GF=<>>6OE 75>457<G5E><E 

<7<5D5=<= (>?D545?5=<=), 0.10 
- 

1 426575.88 2183320.39 
�5F>4 E?GF=<>>6OE 75>457<G5E><E 

<7<5D5=<= (>?D545?5=<=), 0.10 
- 

 

8. «�47>?D>6>4-66>4 > 6<?><G 4><G ?> 44D5EG: �<657>D>4E>4O >5?., 
�D74<4EE><= D-=, E. �>4>64F>6>, �>?56>= ?5D., 4. 11 (�-2-

0473�/2022/��/��)», =47=4G5=<5: �47>?D>6>4 =<7>>7> 446?5=<O, 
?D>FO65==>EFL: 107 <, 44D5E: $>EE<=E>4O $545D4F<O, �<657>D>4E>4O >5?., 
�D74<4EE><= D-=, E. �>4>64F>6>, �>?56>= ?5D., 4. 11 (>444EFD>6O= =><5D 
52:41:1107002:3031) 

 

�5>7=4G5=<5 
E4D4>F5D=OE 
F>G5> 7D4=<F 

�>>D4<=4FO, < �5F>4 >?D545?5=<O >>>D4<=4F < 
ED54=OO >644D4F<G5E>4O 
?>7D5L=>EFL ?>?>65=<O 

E4D4>F5D=>= F>G>< (�t), < 

�?<E4=<5 
74>D5??5=<O 

F>G>< X Y 

1 2 3 4 5 

1 427614.09 2189351.09 
�5F>4 E?GF=<>>6OE 75>457<G5E><E 

<7<5D5=<= (>?D545?5=<=), 0.10 
- 

2 427619.98 2189350.95 
�5F>4 E?GF=<>>6OE 75>457<G5E><E 

<7<5D5=<= (>?D545?5=<=), 0.10 
- 

3 427625.49 2189384.86 
�5F>4 E?GF=<>>6OE 75>457<G5E><E 

<7<5D5=<= (>?D545?5=<=), 0.10 
- 

4 427624.60 2189389.72 �5F>4 E?GF=<>>6OE 75>457<G5E><E - 
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<7<5D5=<= (>?D545?5=<=), 0.10 

5 427621.58 2189400.34 
�5F>4 E?GF=<>>6OE 75>457<G5E><E 

<7<5D5=<= (>?D545?5=<=), 0.10 
- 

6 427627.31 2189434.78 
�5F>4 E?GF=<>>6OE 75>457<G5E><E 

<7<5D5=<= (>?D545?5=<=), 0.10 
- 

7 427628.37 2189440.47 
�5F>4 E?GF=<>>6OE 75>457<G5E><E 

<7<5D5=<= (>?D545?5=<=), 0.10 
- 

8 427618.80 2189440.80 
�5F>4 E?GF=<>>6OE 75>457<G5E><E 

<7<5D5=<= (>?D545?5=<=), 0.10 
- 

9 427618.66 2189436.80 
�5F>4 E?GF=<>>6OE 75>457<G5E><E 

<7<5D5=<= (>?D545?5=<=), 0.10 
- 

10 427623.59 2189436.63 
�5F>4 E?GF=<>>6OE 75>457<G5E><E 

<7<5D5=<= (>?D545?5=<=), 0.10 
- 

11 427623.37 2189435.48 
�5F>4 E?GF=<>>6OE 75>457<G5E><E 

<7<5D5=<= (>?D545?5=<=), 0.10 
- 

12 427617.48 2189400.10 
�5F>4 E?GF=<>>6OE 75>457<G5E><E 

<7<5D5=<= (>?D545?5=<=), 0.10 
- 

13 427620.70 2189388.82 
�5F>4 E?GF=<>>6OE 75>457<G5E><E 

<7<5D5=<= (>?D545?5=<=), 0.10 
- 

14 427621.43 2189384.82 
�5F>4 E?GF=<>>6OE 75>457<G5E><E 

<7<5D5=<= (>?D545?5=<=), 0.10 
- 

15 427616.60 2189355.03 
�5F>4 E?GF=<>>6OE 75>457<G5E><E 

<7<5D5=<= (>?D545?5=<=), 0.10 
- 

16 427609.19 2189355.21 
�5F>4 E?GF=<>>6OE 75>457<G5E><E 

<7<5D5=<= (>?D545?5=<=), 0.10 
- 

17 427608.42 2189353.11 
�5F>4 E?GF=<>>6OE 75>457<G5E><E 

<7<5D5=<= (>?D545?5=<=), 0.10 
- 

18 427608.15 2189350.26 
�5F>4 E?GF=<>>6OE 75>457<G5E><E 

<7<5D5=<= (>?D545?5=<=), 0.10 
- 

19 427611.55 2189350.09 
�5F>4 E?GF=<>>6OE 75>457<G5E><E 

<7<5D5=<= (>?D545?5=<=), 0.10 
- 

20 427614.00 2189349.90 
�5F>4 E?GF=<>>6OE 75>457<G5E><E 

<7<5D5=<= (>?D545?5=<=), 0.10 
- 

1 427614.09 2189351.09 
�5F>4 E?GF=<>>6OE 75>457<G5E><E 

<7<5D5=<= (>?D545?5=<=), 0.10 
- 

 

9. «�47>?D>6>4-66>4 > 6<?><G 4><G ?> 44D5EG: �<657>D>4E>4O >5?4EFL, 
�D74<4EE><= D4=>=, E. '5D=GE4, G?. �.�>DL>>7>, 4.49 (�-2-

0435�/2022/��/��)», =47=4G5=<5: �47>?D>6>4 =<7>>7> 446?5=<O, 
?D>FO65==>EFL: 55 <, 44D5E: $>EE<=E>4O $545D4F<O, �<657>D>4E>4O >5?4EFL, 
�D74<4EE><= D4=>=, E. '5D=GE4, G?. �.�>DL>>7>, 4.49 (>444EFD>6O= =><5D 
52:41:0206005:6605) 

 

�5>7=4G5=<5 
E4D4>F5D=OE 
F>G5> 7D4=<F 

�>>D4<=4FO, < �5F>4 >?D545?5=<O >>>D4<=4F < 
ED54=OO >644D4F<G5E>4O 
?>7D5L=>EFL ?>?>65=<O 

E4D4>F5D=>= F>G>< (�t), < 

�?<E4=<5 
74>D5??5=<O 

F>G>< X Y 

1 2 3 4 5 

1 449230.03 2200759.49 
�5F>4 E?GF=<>>6OE 75>457<G5E><E 

<7<5D5=<= (>?D545?5=<=), 0.10 
- 

2 449232.68 2200756.89 
�5F>4 E?GF=<>>6OE 75>457<G5E><E 

<7<5D5=<= (>?D545?5=<=), 0.10 
- 
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3 449237.89 2200753.31 
�5F>4 E?GF=<>>6OE 75>457<G5E><E 

<7<5D5=<= (>?D545?5=<=), 0.10 
- 

4 449241.84 2200749.70 
�5F>4 E?GF=<>>6OE 75>457<G5E><E 

<7<5D5=<= (>?D545?5=<=), 0.10 
- 

5 449246.40 2200754.67 
�5F>4 E?GF=<>>6OE 75>457<G5E><E 

<7<5D5=<= (>?D545?5=<=), 0.10 
- 

6 449262.87 2200779.10 
�5F>4 E?GF=<>>6OE 75>457<G5E><E 

<7<5D5=<= (>?D545?5=<=), 0.10 
- 

7 449263.64 2200780.22 
�5F>4 E?GF=<>>6OE 75>457<G5E><E 

<7<5D5=<= (>?D545?5=<=), 0.10 
- 

8 449265.15 2200782.03 
�5F>4 E?GF=<>>6OE 75>457<G5E><E 

<7<5D5=<= (>?D545?5=<=), 0.10 
- 

9 449262.07 2200784.59 
�5F>4 E?GF=<>>6OE 75>457<G5E><E 

<7<5D5=<= (>?D545?5=<=), 0.10 
- 

10 449260.44 2200782.62 
�5F>4 E?GF=<>>6OE 75>457<G5E><E 

<7<5D5=<= (>?D545?5=<=), 0.10 
- 

11 449259.57 2200781.34 
�5F>4 E?GF=<>>6OE 75>457<G5E><E 

<7<5D5=<= (>?D545?5=<=), 0.10 
- 

12 449243.26 2200757.15 
�5F>4 E?GF=<>>6OE 75>457<G5E><E 

<7<5D5=<= (>?D545?5=<=), 0.10 
- 

13 449241.60 2200755.34 
�5F>4 E?GF=<>>6OE 75>457<G5E><E 

<7<5D5=<= (>?D545?5=<=), 0.10 
- 

14 449240.39 2200756.45 
�5F>4 E?GF=<>>6OE 75>457<G5E><E 

<7<5D5=<= (>?D545?5=<=), 0.10 
- 

15 449235.24 2200759.99 
�5F>4 E?GF=<>>6OE 75>457<G5E><E 

<7<5D5=<= (>?D545?5=<=), 0.10 
- 

16 449232.83 2200762.35 
�5F>4 E?GF=<>>6OE 75>457<G5E><E 

<7<5D5=<= (>?D545?5=<=), 0.10 
- 

1 449230.03 2200759.49 
�5F>4 E?GF=<>>6OE 75>457<G5E><E 

<7<5D5=<= (>?D545?5=<=), 0.10 
- 

 

10. «�>475<=O= 747>?D>6>4 446?5=<5< 4> 1,2 �?4 >F F>G>< ?D<E>54<=5=<O 
> D4E?D545?<F5?L=><G 747>?D>6>4G 4> >5N5>F4 ?> 44D5EG: �<657>D>4E>4O 
>5?4EFL, �D74<4EE><= D4=>=, 7. �D74<4E, G?. �4?<=<=4, 4. 51-� �5N5>F: 
46F><>5<?L=4O 747>=4?>?=<F5?L=4O >><?D5EE>D=4O EF4=F<O (����%) (�-2-

1977��/%&-%)», =47=4G5=<5: �47>?D>6>4 6OE>>>7> 446?5=<O 1 >4F57>D<<, 
?D>FO65==>EFL: 411 <, 44D5E: $>EE<=E>4O $545D4F<O, �<657>D>4E>4O 
>5?4EFL, �D74<4EE><= D4=>=, 7. �D74<4E, G?. �4?<=<=4, 4. 51-� �5N5>F: 
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(>444EFD>6O= =><5D 52:40:0000000:5337) 
 

�5>7=4G5=<5 
E4D4>F5D=OE 
F>G5> 7D4=<F 

�>>D4<=4FO, < �5F>4 >?D545?5=<O >>>D4<=4F < 
ED54=OO >644D4F<G5E>4O 
?>7D5L=>EFL ?>?>65=<O 

E4D4>F5D=>= F>G>< (�t), < 

�?<E4=<5 
74>D5??5=<O 

F>G>< X Y 

1 2 3 4 5 

1 426415.50 2206499.73 
�5F>4 E?GF=<>>6OE 75>457<G5E><E 

<7<5D5=<= (>?D545?5=<=), 0.10 
- 

2 426386.43 2206511.13 
�5F>4 E?GF=<>>6OE 75>457<G5E><E 

<7<5D5=<= (>?D545?5=<=), 0.10 
- 

3 426377.08 2206541.32 �5F>4 E?GF=<>>6OE 75>457<G5E><E - 
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<7<5D5=<= (>?D545?5=<=), 0.10 

4 426363.96 2206592.11 
�5F>4 E?GF=<>>6OE 75>457<G5E><E 

<7<5D5=<= (>?D545?5=<=), 0.10 
- 

5 426358.21 2206610.56 
�5F>4 E?GF=<>>6OE 75>457<G5E><E 

<7<5D5=<= (>?D545?5=<=), 0.10 
- 

6 426351.04 2206636.67 
�5F>4 E?GF=<>>6OE 75>457<G5E><E 

<7<5D5=<= (>?D545?5=<=), 0.10 
- 

7 426350.54 2206639.20 
�5F>4 E?GF=<>>6OE 75>457<G5E><E 

<7<5D5=<= (>?D545?5=<=), 0.10 
- 

8 426352.66 2206643.46 
�5F>4 E?GF=<>>6OE 75>457<G5E><E 

<7<5D5=<= (>?D545?5=<=), 0.10 
- 

9 426351.10 2206649.07 
�5F>4 E?GF=<>>6OE 75>457<G5E><E 

<7<5D5=<= (>?D545?5=<=), 0.10 
- 

10 426338.85 2206647.08 
�5F>4 E?GF=<>>6OE 75>457<G5E><E 

<7<5D5=<= (>?D545?5=<=), 0.10 
- 

11 426338.57 2206648.19 
�5F>4 E?GF=<>>6OE 75>457<G5E><E 

<7<5D5=<= (>?D545?5=<=), 0.10 
- 

12 426319.02 2206736.56 
�5F>4 E?GF=<>>6OE 75>457<G5E><E 

<7<5D5=<= (>?D545?5=<=), 0.10 
- 

13 426318.88 2206745.62 
�5F>4 E?GF=<>>6OE 75>457<G5E><E 

<7<5D5=<= (>?D545?5=<=), 0.10 
- 

14 426320.00 2206748.10 
�5F>4 E?GF=<>>6OE 75>457<G5E><E 

<7<5D5=<= (>?D545?5=<=), 0.10 
- 

15 426331.12 2206776.54 
�5F>4 E?GF=<>>6OE 75>457<G5E><E 

<7<5D5=<= (>?D545?5=<=), 0.10 
- 

16 426332.00 2206777.71 
�5F>4 E?GF=<>>6OE 75>457<G5E><E 

<7<5D5=<= (>?D545?5=<=), 0.10 
- 

17 426338.18 2206790.91 
�5F>4 E?GF=<>>6OE 75>457<G5E><E 

<7<5D5=<= (>?D545?5=<=), 0.10 
- 

18 426323.21 2206853.50 
�5F>4 E?GF=<>>6OE 75>457<G5E><E 

<7<5D5=<= (>?D545?5=<=), 0.10 
- 

19 426322.30 2206856.76 
�5F>4 E?GF=<>>6OE 75>457<G5E><E 

<7<5D5=<= (>?D545?5=<=), 0.10 
- 

20 426318.45 2206855.69 
�5F>4 E?GF=<>>6OE 75>457<G5E><E 

<7<5D5=<= (>?D545?5=<=), 0.10 
- 

21 426319.33 2206852.52 
�5F>4 E?GF=<>>6OE 75>457<G5E><E 

<7<5D5=<= (>?D545?5=<=), 0.10 
- 

22 426333.97 2206791.34 
�5F>4 E?GF=<>>6OE 75>457<G5E><E 

<7<5D5=<= (>?D545?5=<=), 0.10 
- 

23 426328.55 2206779.78 
�5F>4 E?GF=<>>6OE 75>457<G5E><E 

<7<5D5=<= (>?D545?5=<=), 0.10 
- 

24 426327.60 2206778.50 
�5F>4 E?GF=<>>6OE 75>457<G5E><E 

<7<5D5=<= (>?D545?5=<=), 0.10 
- 

25 426316.31 2206749.65 
�5F>4 E?GF=<>>6OE 75>457<G5E><E 

<7<5D5=<= (>?D545?5=<=), 0.10 
- 

26 426314.86 2206746.46 
�5F>4 E?GF=<>>6OE 75>457<G5E><E 

<7<5D5=<= (>?D545?5=<=), 0.10 
- 

27 426315.03 2206736.09 
�5F>4 E?GF=<>>6OE 75>457<G5E><E 

<7<5D5=<= (>?D545?5=<=), 0.10 
- 

28 426334.67 2206647.27 
�5F>4 E?GF=<>>6OE 75>457<G5E><E 

<7<5D5=<= (>?D545?5=<=), 0.10 
- 

29 426335.86 2206642.54 
�5F>4 E?GF=<>>6OE 75>457<G5E><E 

<7<5D5=<= (>?D545?5=<=), 0.10 
- 

30 426348.21 2206644.55 
�5F>4 E?GF=<>>6OE 75>457<G5E><E 

<7<5D5=<= (>?D545?5=<=), 0.10 
- 
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31 426348.40 2206643.86 
�5F>4 E?GF=<>>6OE 75>457<G5E><E 

<7<5D5=<= (>?D545?5=<=), 0.10 
- 

32 426346.36 2206639.76 
�5F>4 E?GF=<>>6OE 75>457<G5E><E 

<7<5D5=<= (>?D545?5=<=), 0.10 
- 

33 426347.14 2206635.79 
�5F>4 E?GF=<>>6OE 75>457<G5E><E 

<7<5D5=<= (>?D545?5=<=), 0.10 
- 

34 426354.37 2206609.44 
�5F>4 E?GF=<>>6OE 75>457<G5E><E 

<7<5D5=<= (>?D545?5=<=), 0.10 
- 

35 426360.12 2206591.01 
�5F>4 E?GF=<>>6OE 75>457<G5E><E 

<7<5D5=<= (>?D545?5=<=), 0.10 
- 

36 426373.24 2206540.22 
�5F>4 E?GF=<>>6OE 75>457<G5E><E 

<7<5D5=<= (>?D545?5=<=), 0.10 
- 

37 426383.17 2206508.13 
�5F>4 E?GF=<>>6OE 75>457<G5E><E 

<7<5D5=<= (>?D545?5=<=), 0.10 
- 

38 426414.05 2206496.00 
�5F>4 E?GF=<>>6OE 75>457<G5E><E 

<7<5D5=<= (>?D545?5=<=), 0.10 
- 

1 426415.50 2206499.73 
�5F>4 E?GF=<>>6OE 75>457<G5E><E 

<7<5D5=<= (>?D545?5=<=), 0.10 
- 
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